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An Anﬁpcttk\ Crovrocterizodton
of Distene Regulor Grophs

X AR kS

g:.l_\ E A (Mamnte 'Té'miyamox)

T hroduction

T copnected undirected simple finite. grapgh

(r b_verm st & B-32.393.)
(sz mpe 2 leop £ multiple edge 5\“13\3 )
A V) & distonce between o ond
C length of  shortest path )
d= mox{stu,wiu,ve D} diometer

Rw={xellawm,xv=1}

Definition
[': Distorce Regulor Groph (ORG)
S PR =(RwaTlion| deperds only on 1,3 and £=3W.V)

ki="Px = |Rwl| , k=ki: volency



107

NEDRGETAELE WARNBERARABER S E05%C
IO M ORG RBA S EEH 2. L 2T . groph 4TS
A .QAeNn=4 eB3B3DRE TR BERAE LT AN

antipedod cdharacteri zation BB o

Definition
clique & ony twe vertices are adjocent
cocdigue & no fwo vertices afe odjocent
S*‘rOhg\y Regu\&r AGmP'Y\ (SR
& DRE with diameter 2
(‘fﬂ‘i\: SRG @ clique aunion £ 8T A L2 T EI>'
diometer N 2 TH B Lt an FESRG £ T B,

Lheorem ( H. Suzuki)

:DRG with digmeter d
For Fa el |, Qo4 woclique
= d < FUh) (diometer § koaB@ike $ T 25 Wb

Jo BRBLF VP LA odique) £} L. e
tGADRE TOARBLAGHI e hD A,
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Theorm (A Hioki ad -H, S-\,\-z_uhi> .

(" DRG with diometer d
For wel', Ao : 3RG
For ‘“%e&mo , Beonli@: ockique

—> d=2

Theorom Y. Bé.'mmque)
" T:DRG with diameterd

Tu@) : SRG  Hor Yoel

IR ool = ks < 21 |

=d=2 or '>Jd2,d) (:Soknson 9rcxph>

Bk W12 DRe T TR N SREEB2Z O
3. T@d+2,d) tRR TH 240, diameter 02 6

é %G\E“\7'?:‘2§’\ZBO

Main Theswem

T:DRG with diameter dz3

Q) : REG  for Yae

For Y3elht) RO N R = clique
—>d=3 ona =Tz, 2)
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’lnTe\’SQCﬁOY\ Diaarom

T DRG with diameterd £33,

Ci= Pie s , GR=RY , BiT RN T intersection nupbers
zH <.

Main theorem ostf o & & & B 3 Intersection diogrom
ERN I,

W, VED with s, W= 2Q

D =Dy =W NI
£33, (iD=

RFEX s
HGO3=P if g73+3 or A< 1i-])|
@ Thee is ne edge between D3 ond D§ ,
W I-F1>1 or 1 3-891>1
Lntersectin Diogrom & & {DIY £ % h 5 2885 line
CT o< S bk RERT. .

.:\"
L3

Dg, : poséibalaiy of edges

€ L. D% ‘t,D‘g o BT QdSQ NN has &
%o Line BRAT .

e X B dometer 55 ronk 4 diagram @ R o ¥
Seha,
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NF. Moin Theorem affR ot ETEHEEM T W,

33, ronkd RS ronk 3 o diagrom e Co £33

BEB20 R, (w5 d =0 ©3 5.
at = DO
{} d\l

o,Bel with & (a.p)=d
L33, WP RIS
ronk.d4 diogrom @B =
5. a |
Suppose E‘Iébi(;;:%: )
Then 28 e 5 ex, o0
5.2 198, 1 - AL
=ld-+3d1 23
So 3eDila, @ for 2053 10} =

Dé/Dd\ 2

-1

— e — -
R,
&

Dy
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Lo L. RRSOY DR, ®=¢ for 223 .4, TFE.,

L2 ThEBILERMaLeTH B,

——

IDt ey l= P =0a =%
D2 eLpdi= Rz = ka where k=[du@l |k =laipl
Dg@*,@’) ; Qi‘:quq, '

1< ba € ks

(Q Ror V):.&DdQQa,p)’ )
bda = | R N T el €] TR (\\\‘:\({?D\ = ks

LLIET with 20, 8d=>
£33 £ (x,BRET 3 ronkddiagrom 1F B & > o
£33 bFasd> oha.

z} = DY Dl—...... _pd-3
{} 3\ / \ d\ B
. /.D%\ / ...... Dd—\
D%\ /_Dg\ ...... ;Dg_i_ /Dg—l
AT AR
D%>D3/ Dg\ ...... ;D d:%\—Dd/ Dl
| e R e U
{y} = .Dg D‘l1 ...... —bg_.g

Dg—\bc) 2) : dique
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Preo € of Main Theorem|

DS Moxn Thetremos SRR E X & 21T T 4.

Lemma l

Let d;(i with 8 ly,@d>=d

For Ve Do, ®, PYEla@. B such that 30, 3>=d-2

Preest

FHeRi= @, @ with o(x,3)=d-2 £33,

C- R A (. ©clique

Eabs.

forYre R,
O, ¥)<d-1

e

N o,ay=¢

&, By =0

L s, Bisoc x®
— §5 =

KQ_’P% = kﬂ'ég = kg, Péi

{a} =

(TS

D
b

1

Dy,
L=
I

d—2~_

T
i
|




Lenwvmo 2

b For Vo ,geT with oo, @o=d,
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there s no edge between DEOL P and TF' @, )

D Por YoeT ond Ve, ¥ el ) with (R, =2,

&(5) AT e 2o

Breot
b ATAE win TEDP
Sel \(d'[g)

£33 LT ‘1’
e eRhoLp sk,
O(x &)=
T3 d%,M=d2
< B lemwa 1l w
%Téc /

@

{a} = Dd\
1 —

D

1

d

P-relie) with 2(p M=2 & &3 & Yellw.p

by DTe,@ e D) afflaline B#H ATV 3 9

N
FARR

T‘k@fﬂ“uﬂ < D“(on@

3¢ Y
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Levhm a3

’sz:‘l ka= ka RS2

7

SME . Lemma 2 TAES £ RA-1 2 83. F 3¢

o = LR = B Nk,

LQVV\W\ Q4‘

Por ¥x.9 with 3, 3)=2

Let 323= D4 &x,3)

dza |

= Cf. a,e T@ , D82 0LPLR@

Moover Ra.= & , Riga= ke

R G, lemmor 12 B8] S,
lolemmad B @R © BT 3 ronk2 dibgronm T
EZ3 3 R eI,

cene=Dd=2

= D9 1_
{z} 2\D1 /Ds\ y \Dd—l
i BN
D%/ >D%/; /-m:f ‘ d>D:§ ={z}
>D%———-- R — 5-1
{y} = D} Di— .- DY,
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O = DI Cx, 2
|

20X, = D2 ox, 2)

LemmoS.
Cler X% with (LY==
dz 4
——bor YuelH'&x,9) , Yve DI x, 9,

WAV

Moreover Riar = bd-t

1

s8R 3 Lemmad & % S,
o lemmoS E (_1,3) Yl ag'q 3 ronk 3 dl\&gmm 7
Z213c N> B3,

z} = DY; Dl-......_pd-3
e IR /D\

1
DI—t ...

Dl
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ST o Lemma P SIaLemmo b &R A,

dz4
2 \:H.-ﬂ '—'-_Ez or

ba-t=1, Rh=z2

S alemmal B BRI LE 1sba1<ka s 5% %
By -BBABIN. diometer E4AME €T 2 £485 W
AreET CLNWE, cade &R ox%.ﬁt,% R E
Bw< e TI. diometer BAWDERBESBW
Lt h B, IBHS  domeer 323 B, & LT,
diameter® 3 o LE T I Tx TE.3) 2H3 & b
Y . Moin Theorem o BEBR V8 5,

Béhic lemmob MR LT EH <,

6Loi‘,§%>):dhfa7go€,(3*é£‘> Cbar <k B L.
ba-1=1le Py z2 299,
A bei<k THB HKS, VxeDd;‘QQ/,P) ey

Peebie,® st X+3.
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0,3 28T 3 ronkd disgrom TER 5.

EERACHECNON N
ue B 5, 3o, 9)=2
T ox,un S BERE
I b5 Pw, Qe A
B o ronkd digrom o
Ea B = % EER
N B

I TR ESB 5.

Lemma 3 & (\‘)K@fc}):z '

F Y

= D4 3,8 & & % {8} = Dj

ST

i X =GR LY=L @p BT 3

Le\mmc;q' FH
X S Dy (o ey
Y& Dj.z(d,(‘g,)‘

@) =3tV XY 2R3 2 D5 Q@ aRFAbD,

Melao) ©20T. 2. I=3¢H S 2 DG,

~

OL R EERI I ronk 3 diagrom TF 23 .

T3 L AEDHGLE) Mhbde L 12,

A=DRxe , B:Dé‘-z(x,p , C= Déia(x,(g)) &3 d.
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5
Il
5
/
\
%
\| /¢

DI—1 d-2
Dl/ \DQ/- d—2__| \D -1 54
2\ / 3 d—l\ , d
N2 d( |

VA

Df/ \Dg—-
3/ ~ ) |
P
{8} = D} Di--.....2Di , =C

T2 L. LewmmoS FV° A@IANT oo 25
EgE 1Y, ROO=AVBVYC » SRGTUHAL 1 &
IS Balioob SEEE2 53, Coablad o HFF

3ehBa, §-7T. {a} = DY

- d
Asc Qll—\ LB | | >D(11\D
1 2
BR< 2-1(0(,[3)\1@—2(0(,{3) %?d—l\ll)2/ld
- d—1
C s DR3P S 3_2/\ | /\Dg_l
| = 3
e B3 e hRd, 3)@%-2\))4
_ ‘ ﬁd—.‘j\ | /Id—2
5 E @,Bda ronkd ; : ‘
diogrom T EZ 3 b : !
/E@@K.Eéc Dg—z\ /D3—19x
NN -\ 2 n Dd—l
S ety W=2FK \D‘f/
i—

%L‘Lﬂ*%,‘ | {’8}:D0
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=Dl £3 a.
B, 22B3rolB o Lo QW) BRI
2 & D~ () EACHEY R &Y
EBAHA LN B, F, T
d(ch, 2)=1 or 2
5. da,w) =2 &-_Le’mmaiiz) F U
Q@20 NE
DR, 2 clique 2F 52 £& 6
N@OAN®W 2NN R
& 52
C@n B2 (Monie)) Y {s}
X T 1=0W, D) &Hm '
Bz hiar122
Co L. Bh=18Y
20,2 =1 &> 2€ D@
B2, o |
22 T lemmad 9
DR, %) = DY 6, 2
D2 = DY X, 2) | |
QG =AVBYCw 3\ 2, 2 €Dulo, b Lemma 1
bS. |
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BN RBa®=Gwnh 3 = CU(BADE (. A)
F 5T |
lcvBn Di’-z(ot,(av)[={tacxvm‘m27\ =k
&> <
(BN D32 (o, @\ S[RmATDl=k
A= RR2= 1
CEM>T LommaS &Y

=13, =ind - -
bd-1 =R lax-\(l,/‘j’)l 1Al=1 Y



